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Run 5976 quartetwise, asym0Osub: Beam ON
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Run 5976 quartetwise, negHO: Beam DIN

Positive Hel (ON): 15.349455 +/- 0.002931
Negative Hel (ON): 14.557992 +/- 0.002786
Positive Hel (OFF): 2.490021 +/- 0.001124
Negative Hel (OFF): 2.487727 +/- 0.001125
-------- Sums and Diffs

On Diff: 0.791464 +/- 0.002031

Off Diff: 0.002294 +/- 0.001435
On Sum: 29.907447 +/- 0.005346

Off Sum: 4.977748 +/- 0.001732
-------- Asymmetries
On Asym: 31.747817 +/- 0.081783 (ppt)
Off Asym: 0.092008 +/- 0.057542 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 24.929699 +/- 0.005619
BkSub Asym: 31.655809 +/- 0.099998 (ppt)
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-------- Histogram Vars
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Run 5976 quartetwise, posHO vs time
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Run 5976 quartetwise, asymQOsub vs time
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Run 5976 quartetwise, negHO vs time
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Run 5976 quartetwise, bcm vs time
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